Ul

(version for practice)

Instructor: Dr.R.A.G. Seely

Cal II (S) (Maths 201-NYB)

1. The integrals:

(a) —tan(l)—l—C (b) Va?—1 —arcsecx + C (c) %(2+3:1;)2/3—|—C

(d) %ln?’t—l—C (e) zln®z —2zlnz +2x + C (f) —cotf —cscd+C
(g) $In2+ (h) 2y/x +2eV* 4+C (i) ta?e® —2pe® + L% 4O
(j) In|sec(l +a)|+C (k) Va2 +22—-3+C (1 e—(2s1n2:1;—|—cosZ:1;)—|—C
(m)%—? (n) —12—|—% (0) Vv4da? — —3arctan(v4x_)—|—0

2. The derivatives:

(1 — sinx)arccos(x) + (x + cos z)(1 — x2)~1/2

(a) y' = :
(arccos(x))

(b) v = secx tan x arcsec x + o seer

a2 —1

3. Simplified: (a) V40 (b) V1 +a?

7

4. (a) Any x between —7 and 7 will satisfy arcsin(sinz) = x; no « outside that range will,
since the range of arcsin is [—7, J].

(b) Any x between —1 and 1 will satisfy sin(arcsin2) = x; no a outside that range will,

since the domain of arcsin x is [—1, 1].



